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����� 3

�!B� 	��!"�#

���0�&�
9������� �'>�������90�
1�
'���A��#0�����������.��#����.������.������@��
B��.��#��13������� 4�@�.@��
[����&  4  ���� ��
 �0��������������������  	�� ��  ����
0�$����  �����.���
�%  ����.��#�����.599-   -�����.��#�����0	�  ��
�����@��9���4�
13�������@���'>��!��  ?�
4$����.�
.0���0�&�
�$��.��
�
(Descriptive  Research) ����[����0�&�

�$��1:��0&(Survey  Research)  4�.����&���������:��1��0��������:��������0�&�
 /��������.��0

���$��� -��-5�
���0�
���  �9�>���
>�4����0�&�
 ���1�����9�>���
>� �����`.�0.�0
@��
�- ���
0��9���#A@��
�- -�13������4$�4����0�&�
��
-:���.

���&	 ���� ��+�����#+	�
1. ���&	 �

���$���4����0�&�
 9>� 9��������.������4�13�������@���'>��!��4�&��#0���\������
&:��0� 4,228 9�

2.  ��+�����#+	�
�-5�
��0�
������4$�4����0�&�
 9>� 9��������.������4�13�������@���'>��!��4�&��#0��

�\�����  �:�#��@����-5�
��0�
���	���-5�
��0�
���  &:��0� 366 9�   -�04$��0���15�
��
1��1�0�
(Propotional  Stratified  Random  Sampling) ��
@������������

2.1 �:�#��@����-5�
��0�
���&��1��� ?�
4$�1���
�
�����(Yamane´,1973:888 )  

21 Ne
Nn
+

=

n = &:��0��-5�
��0�
���
N = &:��0����$�������#
�
e =  ��90�
9-���9->���@���-5�
��0�
������
�
��.	�� (.05)

 ��9��  
2)05(.228,41

228,4
+

=n

=       365.428 9�
=       366           9�
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4����0�&�
4�9�������4$��-5�
��0�
����������9��������.�������4����������� 2548 4�
13�������@���'>��!��4�&��#0���\�����    &:��0�  366  9�

2.2 ���
.1��1�0� ��-��:��[� �����������  1  -�015�
�-5�
��0�
������
��0
0���&�.1-��
	���-5�
��0�
��� ��-�?�����
�  (��
-����
� 1��	0�4�[�9B�0�:��
$>��13�������@���-5�

��0�
���)

����� 1   &:��0����$��� -��-5�
��0�
���@��9��4�13�������@���'>��!��   &:� ����
��

�:��[�

�:��[� &:��0����$��� &:��0��-5�
��0�
���

�
>��
�������

�#����
1�
.5���
	
� ���
��'��

#���&��
?9�?'��_
 
�-��

����

�
�

�5��
�� ��

716
358
531
370
92

127
462
462
116
508
347
139

62
31
46
32
8

11
40
40
10
44
30
12

�0
 4,228 366
11 
1
1
1
1
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�(����(�J� 	��!"�#

�9�>���
>����4$�4����0�&�
9������� ���� ..1�.3�
(Questionnaire) ���B��0�&�
1����@���?�

���
0- �090�
9�����	��0��9���#A&�����1���������
0@�����������.��#��  3  ����  ��
 �09��
@�� 9�/A  ��.������.���������
[����&@��B��.��#��13�������@���'>��!��  ?�
 .��������� 3  
���������

������  1  ���� ..1�.3�
����
0��.��������.��#��@��B��.��#��13��������  ��
�����
@��9��4�13�������@���'>��!��  4�  3  ����  	�� ��� ����90�
9���0.
�� ����
�5�
1�
'���A�
 -�������9��9 &:��0�   30 @�� ���� ..1�.3�

����1�0����
�%9��(Rating  Scale) ��

 ..@��-��9��A� (Likert)  .������  5  ����.  ?�
4#�B����. ..1�.3�
'�&��%�0��@��90�
4� ���
-�@��  B��.��#��
���������.��#���
��4�����.4�  9>�  5  4  3  2   -�1 ���
�-:���.
�����15�  
��  
����-��  ���
   -����
���15�  ������

����.  5  #
�
3��  ��������.��#���
��4�����.
�����15�
����.  4  #
�
3��  ��������.��#���
��4�����.
��         
����.  3  #
�
3��  ��������.��#���
��4�����.����-��        
����.  2  #
�
3��  ��������.��#���
��4�����.���
        
����.  1  #
�
3��  ��������.��#���
��4�����.���
���15�                
������ 2   ���� ..1�.3�
����
0��.������.��������
[����&@��B��.��#��13�������  

��
 �0��������������������  4�  4  ����  9>� ����0�$����  �����.���
�%  ����.��#�����
.599-   -�����.��#�����0	�  &:��0� 45 @��    ..1�.3�
���� ..
����1�0����
�%9�� 
(Rating  Scale)  ��
 ..@��-��9��A� (Likert)  .������  5  ����.  ?�
4#�B����. ..1�.3�

'�&��%�0��@��90�
4� ��-�@��  B��.��#��
�������.����
��4�����.4�  9>�  5  4  3  2   -�1 
���
�-:���.
�����15�  
��  ����-��  ���
   -����
���15�  ������

����.  5  #
�
3��  ������.��������
[����&�
��4�����.
�����15�
����.  4  #
�
3��  ������.������[����&�
��4�����.
��         
����.  3  #
�
3��  ������.������[����&�
��4�����.����-��        
����.  2  #
�
3��  ������.������[����&�
��4�����.���
        
����.  1  #
�
3��  ������.������[����&�
��4�����.���
���15�  
������  3  ���� ..1�.3�
@���1�� �����
������������.��#�� -�������.��������


[����&@��B��.��#��13�������@���'>��!��  
�-���%� ..�-�
��U�(Open  Form)
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 	���2	�

�(����(�

���1�����9�>���
>�1:�#��.0�&�

�@������������
              1. �����9��90�����1������
0��.��������.��#��  9>� ���������90�
9���0.
��
���������
�5�
1�
'���A  -������������9��9 ��.������.��������
[����&@��B��.��#��
13���������
 �0��������������������   
�����  4  ����  9>�   ����0�$����  �����.���
�%  
����.��#�����.599-   -�����.��#�����0	�  �'>���@��4&3����>��#����1��9-�����.���0�&�
9�������

  2. �����0������1���� -���� ..@�� ..1�.3�
  &���:���  ���1�� -����0�&�
�'>��
1���� ..1�.3�

                3.  �:�#��@�.�@�@��@��9:�3�
&����0 ���������� -�������9�>���
>�4����0�&�
@��  

�
�  �����'
�9�A�(2540:86- 88)1
�����_  ������$�(2544:146-150)	'&���  �����1�%A (2544 : 119 
� 126) .��.f��   #�
�1��
�� (2540:165-176) 15[�9   ��0�'$�(2545 : 183-196)�5
��  10�#-��
(2546:172-182)���X�05�  150��3� (2546:208-211)  -�0�:�
���������&��
A���������0��
���'��A  
�'>��@�9:� ���:� -� �0���4����1����� ..1�.3�

               4. �:� ..1�.3�
���1�����1�̀&���
.���
 -�0 �1����&��
A���������0��
���'��A 
�'>����0&1�. -�4#�@���1�� ���'>�����.��5� ��	@���	�
               5. �:� ..1�.3�
������.��5� ��	@ -�04#�B���$��
0$�" &:��0� 5 ����  '�&��%���0&
1�.90�
����
������
��>��#�(Content Validity)  -�0�:�B-���'�&��%�@��B���$��
0$�"
�
0��9���#A#�90�
����
������
��>��#� ?�
4$���$��90�
1��9-�����#0���@����
�����.�����̀�
#-��@�����4$���������.��#����.������.��������
[����&@��B��.��#��13�������@���'>��!��  
4� ��-�������������0�&�
��
0���@��?�0���--�� -� �
�.����(Rovinelli and Hambleton,1978 :  
34-37 ����3��4�  .5"�$��  [�"?" �����'��A�,2527 : 69) 	��9����$��90�
1��9-���@�� ..
1�.3�
������  9>�  9����$��90�
1��9-���   1  &:��0�  58  @��  9����$��90�
1��9-���  .8  &:��0�
8 @��  -�9����$��90�
1��9-���  .6  /����
��4���%bA����������.��5�  &:��0�  9  @��  /���B��0�&�
	���
�:�������.��5� ��	@���
.���
 -�0�5�@��   1��	0�4�[�9B�0�

 6. �:� ..1�.3�
������.��5� ��	@���
.���
 -�0	���-��4$� (Try out) ��.9�����
���.������4�13�������@���'>��!��&��#0���\����� &:��0� 30 9� ���	
�4$��-5�
��0�
���4����0�&�

9�������  -�0�:� ..1�.3�
�����-��4$�
���0&4#�9� ��  -��:��������#�90�
�$>��
��� 
(Reliability) @�� ..1�.3�
?�
4$�1���1�
���1����_@�� �-s�(α - Coefficient) @��9���.�9 
(Cronbach ����3��4� '0�����A �0�����A�, 2538 : 125)	��9��90�
�$>��
���@�� ..1�.3�
��������
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.��#�� .887   -�9��90�
�$>��
���@�� ..1�.3�
������.��������
[����&@��B��.��#��
13�������  .890  (��
-����
� 1��	0�4�[�9B�0�:95%[�'�9�>���
>�)

 7. �:� ..1�.3�
�����-��4$� -�0
�&���:� ..1�.3�
Y.�.&���   -�0�:� ..1�.3�

	��:����������`.@��
�-��.�-5�
��0�
������0�&�
 

 	�
 N��������2��4�

�����`.�0.�0
@��
�- B��0�&�

�@������4�����:��������������
             1.@�#���1>�&��[�90�$����.��#����������  9%��������1��A�

#�0��
�-�
1�@-��9�����A 0��
��@��\�����  ���:���0B��0�&�
 -�@�90�
��0

>�4������`.

@��
�-1��3��B���:��0
����@�'>�������������  �@� 1   -�  �@� 2    
             2. @�#���1>� ���:���0B��0�&�
  &��B���:��0
����@�'>�������������  �@� 1   -�  �@� 2   3��
B��.��#��13�������@���'>��!���5��:��[�  �'>��@�90�
��0

>�4������`.@��
�-&���-5�
��0�
���
             3. B��0�&�
1�� ..1�.3�
3��B��.��#��13�������@���'>��!���5��:��[����	���%�
A    -�
@�90�
��0

>�&��B����. ..1�.3�
  4#�1��9>� ..1�.3�
#-��&�����	����. ..1�.3�
	�
 -�0 15 0�� ?�
4#�1���-��.���	���%�
A��
���	��@�90�
��0

>���
@�� 1 ?�
��� �./���U�
 1�
��&��#���/��3��B��0�&�


4. �
>��	����. ..1�.3�
9>�  B��0�&�
	�����0&1�.90�
3������1
.��%A@�������.
 ..1�.3�
  �����0��1
.��%A����  366 $5�  9���������
-�  100   -�0�:�B-	�0��9���#A@��
�- 

11
 	��!�

�	����2��4�

���0��9���#A@��
�-4�9�������  B��0�&�
4$�9�
'�0����A?�� ��
1:���̀&���   �:����������

@������������

1. 0��9���#A����.��������.��#��@��B��.��#��13�������@���'>��!��  &��
 ..1�.3�
��� 1 ?�
�:�9� �����	��
�#�9���Y-��
 ( X )  9���.��
��.�
���!��  ( ..DS ) �'>��#�
����.��������.��#��@��B��.��#��13�������@���'>��!��  -�0�:�9��	�����
.���
.��.��%bA���
0��9���#AB-�������
��90�
9���#̀�������(���9��  ���%1��,2538:77)

9���Y-��
 4.50-5.00  #
�
3��  ��������.��#���
��4�����.
�����15�
9���Y-��
 3.50-4.49  #
�
3��   ��������.��#���
��4�����.
�� 
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9���Y-��
 2.50-3.49  #
�
3��   ��������.��#���
��4�����.����-��
9���Y-��
 1.50-2.49  #
�
3��  ��������.��#���
��4�����.���
 
9���Y-��
 1.00-1.49  #
�
3��  ��������.��#���
��4�����.���
���15�  

 -�0��9���#A����.������.��������
[����&@��B��.��#��13�������@���'>��!��  &��
 ..1�.3�
��� 2   �:�9� �����	��
�#�9���Y-��
( X )  9���.��
��.�
���!��  ( ..DS ) �'>��#�����.
������.��������
[����&@��B��.��#��13�������@���'>��!��  -�0�:�9��	�����
.���
.��.��%bA�
���0���9���#AB-�������
��90�
9���#̀�������(���9��  ���%1��,2538:77)

9���Y-��
 4.50-5.00  #
�
3��  ������.��������
[����&�
��4�����.
�����15�
9���Y-��
 3.50-4.49  #
�
3��  ������.��������
[����&�
��4�����.
�� 
9���Y-��
 2.50-3.49  #
�
3��  ������.��������
[����&�
��4�����.����-��
9���Y-��
 1.50-2.49  #
�
3��  ������.��������
[����&�
��4�����.���
 
9���Y-��
 1.00-1.49  #
�
3��  ������.��������
[����&�
��4�����.���
���15�  

2. 0��9���#A90�
1�
'���A��#0�����������.��#�������.������.��������
[����&@��
B��.��#��13������� 4�13�������@���'>��!��&��#0���\������ ?�
4$�9��1�
���1����_
1#1�
'���A ..�'�
�A1�� (Pearson�s Product Moment Correlation Coefficient)

3. ��1�.90�

���
1:�9�"@��1�
���1����_1#1�
'���A (Correlation Coefficient) 
��#0�����������.��#����.������.��������
[����&@��B��.��#��13�������@���'>��!��4�
&��#0���\�����  ��0
9����� ( t-test )   1:�#��.��%bA���4$�4���� �-90�
#
�
9��1�
���1����_
1�
'���A (����3��4�  '0�����A �0�����A�, 2538 : 144) ������
1    0.80  @���	�    #
�
90�
0��  
�90�
1�
'���A���4�����.1��

0.60 � 0.79    #
�
90�
0��  
�90�
1�
'���A���4�����.9���@���1��
 0.40 � 0.59    #
�
90�
0��  
�90�
1�
'���A���4�����.����-��     
0.20 � 0.39    #
�
90�
0��  
�90�
1�
'���A���4�����.9���@�����:�     
��:��0�� 0.20    #
�
90�
0��  
�90�
1�
'���A���4�����.��:�

4. #�90�
3��@��@���1�� ��@��9��4�13�������@���'>��!��4�&��#0���\������ ���
����
��������.��#�� -�������.��������
[����&@��B��.��#��13���������
 �0������������
�������� 
1
1
1
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��!�!���J&2J� 	��!"�#

  1. 13������4$�4������0&1�.95%[�'�9�>���
>�
1.1 9:��0%#�90�
����
���
��>��#�  (Content Validity) 4$�1��� ('0�����A   

�0�����A�, 2538 : 177) ������

N
RIC Σ

=

�
>��  IC   ��    ��$��90�
1��9-������#0���@��9:�3�
��.�����̀�#-��
@����>��#�

R∑   ��    B-�0
@��9� ��90�
9���#̀�@��B���$��
0$�"
N   ��     &:��0�B���$��
0$�"

1.2 ���0��9���#A#�90�
�$>��
��� (Reliability) @�� ..1�.3�
4$�1���1�
���1����_
 �-s� (α - Coefficient) @��9���.�9  /���
�1��� ('0�����A �0�����A�, 2538 125)












−

−
= ∑

2

2

1
1 t

i

S
S

n
nα

        �
>��  α  �� 1�
���1����_90�
�$>��
���
n  �� &:��0�@��
2
iS  �� 9� ��90�
 ����0� ��-�@��
2
tS  �� 9� ��90�
 ����0�����Y.�.

2. 13������4$�4����0��9���#A@��
�-
2.1  9���Y-��
 X (Mean) 4$�1��� (����3��4�-�0� 1�

�  -����9%� 1�

�, 

2538 : 73) ������

N
X

X ∑=
       �
>��  X  �� 9���Y-��


∑ X     �� B-�0
@��9� ������#
�
N   �� &:��0�@��
�-

2.2  9���.��
��.�
���!�� (Standard Deviation) 4$�1��� (����3��4�-�0�  1�

�   -�
���9%� 1�

�, 2538 : 79)������
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( )
( )1..

22

−
∑−∑

=
NN

XXNDS

�
>��   ..DS     ��  90�
�.��
��.�
���!��
2X∑  ��  B-�0
@��9� �� ��-���0��0
�:�-��1��

( )2X∑   ��  B-�0
@��9� ������#
�
��:�-��1��
N  ��  &:��0��-5�
��0�
���

2.3   9��1�
���1����_1#1�
'���A�(Simple  Correlation) 4$�1��� @�� Pearson�s 
Product Moment  Correlation Coefficient (����3��4�  '0�����A  �0�����A�,2538 :144)

r  =  
( )[ ] ( )[ ]2222 YYNXXN

YXXYN

∑−∑∑−∑

∑∑−∑

�
>�� r          ��  1�
���1����_1#1�
'���A 
X∑  ��  B-�0
9� ��$5� X

(9� ����������.��#��@��B��.��#��)
Y∑  ��  B-�0
9� ��$5� Y

(9� ��������.��������
[�����&@��B��.��#��)
XY∑  ��  B-�0
@��B-9�%@��9� ��  X ��.

Y ����9�� ^ 4����9� ����.  
2X∑  ��  B-�0
@��9� �� X  ��-���0
��:�-��1��
2Y∑  ��  B-�0
@��9� �� Y  ��-���0
��:�-��1��

N  ��  @����-5�
��0�
���
2.4  ��1�.���
1:�9�"@��9��1�
���1����_1#1�
'���A�( r )?�
�����1�.9����� ( t- test ) 

4$�1��������� ( ����3��4� '0�����A  �0�����A�, 2538: 180)

21

2

r
Nrt
−

−
=

  �
>�� t  ��   9����� &� &� ..�� ( t-Distribution )
r  ��   9��1�
���1����_1#1�
'���A���9:��0%	���
N  ��   @����-5�
��0�
���

1




